Proceedings of the Institute of Mathematics and Mechanics, National Academy of Sciences of Azerbaijan Volume 50, Number 2, 2024, Pages 242–248 https://doi.org/10.30546/2409-4994.2024.50.2.242

TRANSFORMATION OPERATORS FOR THE PERTURBED MODIFIED BESSEL EQUATION

AGIL KH. KHANMAMEDOV AND AFAG F. MAMEDOVA

Abstract. The perturbed modified Bessel equation on the entire axis is considered. By means of transformation operator an integral representation of the Jost-type solution is found. An estimate is obtained with respect to the kernel of the transformation operator. A connection is established between the kernel of the integral representation and the perturbation potential.

1. Introduction

Consider the equation

$$x^{2}u'' + xu' - x^{2}u + q(x)u = \nu^{2}u, x > 0,$$
(1.1)

where the coefficient q(x) satisfies the conditions

$$q(x) \in C^{1}(0, \infty), \int_{0}^{1} x^{-1} |q(x) \ln x| dx + \int_{1}^{\infty} x |q(x)| dx < \infty.$$
 (1.2)

For q(x) = 0 we get the equation

$$x^{2}u'' + xu' - x^{2}u = \nu^{2}u, x > 0.$$
(1.3)

which is called the modified Bessel equation. It is well known (see [1], [8]) that this equation has two linearly independent solutions $\varphi(x,\nu) = I_{\nu}(x)$ and $\psi(x,\nu) = K_{\nu}(x)$, where $I_{\nu}(x)$ and $K_{\nu}(x)$ are modified functions of the first and second kind, respectively(e.g., see [1]). We will be interested in solutions $\Phi(x,\nu)$ and $\Psi(x,\nu)$, of the perturbed equation (1.1) with asymptotics

$$\Psi(x,\nu) = \psi(x,\nu) [1 + o(1)], x \to +\infty,$$
 (1.4)

$$\Phi(x,\nu) = \varphi(x,\nu) [1 + o(1)], x \to 0.$$
 (1.5)

In this paper, the existence of solutions $\Phi(x,\nu)$ and $\Psi(x,\nu)$ is proved and by means of transformation operators their triangular representations are found. The obtained results can be useful in studying direct and inverse scattering problems for equation (1.1). Note that for various Sturm-Liouville equations, transformation operators were constructed in the works [6], [7]. Transformation operators for differential equations with Bessel operators are studied in detail in

 $^{2010\} Mathematics\ Subject\ Classification.\quad 34A55,\ 34L40.$

Key words and phrases. perturbed equation, Bessel equation, transformation operator, Jost-type solution, Riemann function.

the works [8], [11]. Inverse spectral problems for the self-adjoint Bessel operator were studied in papers [2], [5], [9], [10].

2. Special solutions of the perturbed Bessel equation

To study the perturbed modified Bessel equation, we use the established connection in work [3],[4]. Consider the equation (1.1). If substitute variables $x=e^t$, $y(t)=u\left(e^t\right)$, $\nu=i\lambda$, equation (1.1) takes the form

$$-y'' + e^{2t}y + p(t)y = \lambda^2 y, \tag{2.1}$$

where

$$p(t) = q(e^t). (2.2)$$

From relations (1.2) and (2.2) it follows that p(t) is a continuously differentiable function on the whole axis and satisfies the conditions

$$\int_0^\infty e^{2t} |p(t)| dt < \infty, \tag{2.3}$$

$$\int_{-\infty}^{0} |tp(t)| \, dt < \infty. \tag{2.4}$$

Let

$$z = \sqrt{2(e^{2\xi} - e^{2\xi_0})(ch2\eta_0 - ch2\eta)}, \ \xi_0 < \xi < \infty, \ 0 < \eta < \eta_0.$$
 (2.5)

$$R(\xi, \eta, \xi_0, \eta_0) = J_0(z) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(n!)^2} \left(\frac{z}{2}\right)^{2n},$$
 (2.6)

where $J_0(z)$ is a Bessel function of the first kind, It is directly verified that the function $R(\xi, \eta, \xi_0, \eta_0)$ satisfies the equation

$$\frac{\partial^2 R}{\partial \xi \, \partial \eta} - 2e^{2\xi} \, sh2\eta \, R = 0 \tag{2.7}$$

and

$$R(\xi_0, \eta; \xi_0, \eta_0) = R(\xi, \eta_0; \xi_0, \eta_0) = 1.$$
 (2.8)

In other words, $R(\xi, \eta, \xi_0, \eta_0)$ is the Riemann function of the equation (2.7) and has the symmetric property

$$R(\xi, \eta; \xi_0, \eta_0) = R(\xi_0, \eta_0; \xi, \eta). \tag{2.9}$$

For all $\xi_0 \leq \xi < \infty$, $0 \leq \eta \leq \eta_0$ the following inequality holds:

$$|R| < 1. \tag{2.10}$$

In addition, for each $\eta \in (0, \eta_0)$, the following relations hold:

$$\frac{\partial R}{\partial \xi} = O\left(e^{2\xi}\right), \ \frac{\partial R}{\partial \eta} = O\left(e^{2\xi}\right), \ \frac{\partial^2 R}{\partial \xi \partial \eta} = O\left(e^{2\xi}\right), \xi \to \infty,
\frac{\partial^2 R}{\partial \xi^2} = O\left(e^{2\xi}\right), \ \frac{\partial^2 R}{\partial \eta^2} = O\left(e^{2\xi}\right), \xi \to \infty.$$
(2.11)

We shall use the following notation

$$\sigma\left(x\right) = \int_{x}^{\infty} \left|p\left(t\right)\right| dt, \, \sigma_{1}\left(x\right) = \int_{x}^{\infty} \sigma\left(t\right) dt.$$

Theorem 2.1. If p(t) satisfies condition (2.3), then the integral equation

$$U(\xi_{0}, \eta_{0}) = \frac{1}{2} \int_{\xi_{0}}^{\infty} R(\xi, 0, \xi_{0}, \eta_{0}) p(\xi) d\xi - \int_{\xi_{0}}^{\infty} d\xi \int_{0}^{\eta_{0}} U(\xi, \eta) R(\xi, \eta, \xi_{0}, \eta_{0}) p(\xi - \eta) d\eta.$$
 (2.12)

has one and only one solution $U(\xi_0, \eta_0)$. Furthermore,

$$|U(\xi_0, \eta_0)| \le \sigma(\xi_0) e^{\sigma_1(\xi_0 - \eta_0)}.$$
 (2.13)

Proof. We will solve this integral equation by the method of successive approximations. Let us put

$$U_0(\xi_0, \eta_0) = \frac{1}{2} \int_{\xi_0}^{\infty} R(\xi, 0; \xi_0, \eta_0) p(\xi) d\xi,$$

$$U_n(\xi_0, \eta_0) = -\int_{\xi_0}^{\infty} d\xi \int_0^{\eta_0} U_{n-1}(\xi, \eta) p(\xi - \eta) R(\xi, \eta; \xi_0, \eta_0) d\eta.$$

Taking into account the known estimate $|R| \leq 1$, we have

$$|U_0(\xi_0, \eta_0)| \le \frac{1}{2} \int_{\xi_0}^{\infty} |R(\xi, 0; \xi_0, \eta_0)| |p(\xi)| d\xi \le \frac{1}{2} \int_{\xi_0}^{\infty} |p(\xi)| d\xi,$$

because $\xi > \xi_0$, $\eta < \eta_0$. Then

$$|U_0\left(\xi_0,\eta_0\right)| \leq \frac{1}{2}\sigma\left(\xi_0\right).$$

Next, taking into account (2.10), we find

$$|U_{1}(\xi_{0},\eta_{0})| \leq \int_{\xi_{0}}^{\infty} d\xi \int_{0}^{\eta_{0}} |U_{0}(\xi,\eta)| \cdot |p(\xi-\eta)| \cdot R(\xi,\eta;\,\xi_{0},\eta_{0}) \, d\eta \leq$$

$$\leq \frac{1}{2} \int_{\xi_{0}}^{\infty} d\xi \int_{0}^{\eta_{0}} \sigma(\xi) |p(\xi-\eta)| \, d\eta \leq \frac{1}{2} \int_{\xi_{0}}^{\infty} \sigma(\xi) \, d\xi \int_{0}^{\eta_{0}} |p(\xi-\eta)| \, d\eta \leq$$

$$\leq \frac{\sigma(\xi_{0})}{2} \int_{\xi_{0}}^{\infty} d\xi \int_{0}^{\eta_{0}} |p(\xi-\eta)| \, d\eta = \frac{\sigma(\xi_{0})}{2} \int_{\xi_{0}}^{\infty} d\xi \int_{\xi-\eta_{0}}^{\xi} |p(\alpha)| \, d\alpha \leq$$

$$\leq \frac{\sigma(\xi_{0})}{2} \int_{\xi_{0}}^{\infty} d\xi \int_{\xi-\eta_{0}}^{\infty} |p(\alpha)| \, d\alpha \leq$$

$$\leq \frac{\sigma(\xi_{0})}{2} \int_{\xi_{0}}^{\infty} \sigma(\xi-\eta_{0}) \, d\xi = \frac{\sigma(\xi_{0})}{2} \sigma_{1}(\xi_{0}-\eta_{0}).$$

Let now

$$|U_{n-1}(\xi_0, \eta_0)| \le \frac{1}{2} \sigma(\xi_0) \frac{(\sigma_1(\xi_0 - \eta_0))^{n-1}}{(n-1)!},$$

then

$$\begin{aligned} |U_{n}(\xi_{0},\eta_{0})| &\leq \int_{\xi_{0}}^{\infty} d\xi \int_{0}^{\eta_{0}} |p(\xi-\eta)R(\xi,\eta,\,\xi_{0},\eta_{0})U_{n-1}(\xi,\eta)| \, d\eta \leq \\ &\leq \frac{1}{2} \, \sigma\left(\xi_{0}\right) \int_{\xi_{0}}^{\infty} \frac{\left(\sigma_{1}\left(\xi-\eta_{0}\right)\right)^{n-1}}{(n-1)!} \int_{\xi-\eta_{0}}^{\xi} |p\left(\alpha\right)| \, d\alpha d\xi \leq \end{aligned}$$

$$\leq \frac{1}{2} \sigma(\xi_{0}) \int_{\xi_{0}}^{\infty} \frac{(\sigma_{1}(\xi - \eta_{0}))^{n-1}}{(n-1)!} \int_{\xi - \eta_{0}}^{\infty} |p(\alpha)| d\alpha d\xi \leq$$

$$= -\frac{1}{2} \sigma(\xi_{0}) \int_{\xi_{0}}^{\infty} \frac{(\sigma_{1}(\xi - \eta_{0}))^{n-1}}{(n-1)!} d\sigma_{1}(\xi - \eta_{0}) = \frac{1}{2} \sigma(\xi_{0}) \frac{(\sigma_{1}(\xi_{0} - \eta_{0}))^{n}}{n!}.$$

From this it obviously follows that the series $U(\xi_0, \eta_0) = \sum_{n=0}^{\infty} U_n(\xi_0, \eta_0)$ converges absolutely and uniformly, and its sum is a solution to Eq. (2.12) and $U(\xi_0, \eta_0)$ satisfies the inequality (2.13). The theorem has been proved.

Now suppose p(y) is a continuously differentiable function and satisfies the condition

$$\int_{0}^{+\infty} e^{2t} \left[|p(t)| + |p'(t)| \right] dt < \infty, \tag{2.14}$$

Differentiating equation (2.12) and using (2.9), (2.11) and (2.14), we find that the function $U(\xi_0, \eta_0)$ is twice continuously differentiable in the region $0 \le \eta_0 \le \xi_0 < \infty$ and the following relations hold:

$$\frac{\partial U}{\partial \xi_0} = O\left(e^{\xi_0 + \eta_0}\right), \quad \frac{\partial U}{\partial \eta_0} = O\left(e^{\xi_0 + \eta_0}\right), \quad \frac{\partial^2 U}{\partial \xi_0 \partial \eta_0} = O\left(e^{\xi_0 + \eta_0}\right), \quad \xi \to \infty,
\frac{\partial^2 U}{\partial \xi_0^2} = O\left(e^{\xi_0 + \eta_0}\right), \quad \frac{\partial^2 U}{\partial \eta_0^2} = O\left(e^{\xi_0 + \eta_0}\right), \quad \xi_0 + \eta_0 \to \infty.$$
(2.15)

Moreover, the solution $U(\xi_0, \eta_0)$ of the integral equation (2.12) satisfies the following differential equation

$$\frac{\partial^2 U\left(\xi_0, \eta_0\right)}{\partial \xi_0 \partial \eta_0} + \left[-2e^{2\xi} \sinh 2\eta + p\left(\xi - \eta\right) \right] U\left(\xi_0, \eta_0\right) = 0 \tag{2.16}$$

and

$$U(\xi_0, 0) = \frac{1}{2} \int_{\xi_0}^{+\infty} p(\xi) d\xi.$$
 (2.17)

From this and from (2.15), it follows that the function $A\left(u,v\right) = U\left(\frac{v+u}{2},\frac{v-u}{2}\right)$ is twice continuously differentiable in the region $0 < u \le v < \infty$ and due to (2.14) for each fixed x

$$\tfrac{\partial A\left(u,v\right)}{\partial u}=O\left(e^{v}\right),\,\tfrac{\partial A\left(u,v\right)}{\partial v}=O\left(e^{v}\right),$$

$$\frac{\partial^{2} A(u,v)}{\partial v^{2}} = O\left(e^{v}\right), \ \frac{\partial^{2} A(u,v)}{\partial v^{2}} = O\left(e^{v}\right), v \to \infty.$$

From this and from (2.16), (2.17) it follows that the function $A\left(u,v\right)=U\left(\frac{v+u}{2},\frac{v-u}{2}\right)$ satisfies the following problem

$$\frac{\partial^{2} A(u,v)}{\partial u^{2}} - \frac{\partial^{2} A(u,v)}{\partial v^{2}} - \left(e^{2u} - e^{2v} + p(u)\right) \quad A(u,v) = 0, \quad 0 < u < v, \quad (2.18)$$

$$A(u,u) = \frac{1}{2} \int_{u}^{\infty} p(t) dt,$$
 (2.19)

$$\lim_{u+v\to\infty} A(u,v) = 0. \tag{2.20}$$

Furthermore, the following estimate holds

$$|A(u,v)| \le \sigma\left(\frac{v+u}{2}\right)e^{\sigma_1(u)}.$$
 (2.21)

Then, using (2.18)-(2.20) and direct differentiation, we find that

$$f(t,\lambda) = K_{i\lambda}(e^t) + \int_t^\infty A(t,s) K_{i\lambda}(e^s) ds, \qquad (2.22)$$

satisfies the equation (2.1). We note that the requirement (2.14) for the function p(t) can be omitted, since a function from the class (2.3) can be approximated by functions from the class (2.14) and then extrapolation to the limit carried out (see [7]).

Let

$$\rho(x) = \int_{x}^{\infty} |q(t)| t^{-1} dt, \, \rho_1(x) = \int_{x}^{\infty} \rho(t) t^{-1} dt.$$
 (2.23)

Theorem 2.2. If q(x) is a continuously differentiable function and satisfies the condition (1.2), then, for all values of ν , Eq. (1.1) has solutions $\Psi(x,\nu)$, representable as

$$\Psi(x,\nu) = \psi(x,\nu) + \int_{x}^{+\infty} K(x,t) \,\psi(t,\nu) \,t^{-1} dt, \qquad (2.24)$$

where the kernel K(x,t) is continuous function and satisfies the following conditions:

$$|K(x,t)| \le \rho\left(\sqrt{xt}\right)e^{\rho_1(x)},$$
 (2.25)

$$K(x,x) = \frac{1}{2} \int_{r}^{\infty} q(t) t^{-1} dt.$$
 (2.26)

Proof. We put $\nu = i\lambda$, $e^t = x$, $K(x,t) = A(\ln x, \ln t)$. Then (2.22) entails the validity of representation (2.24). In addition, from (2.2), (2.21) it follows that

$$|K(x,t)| \le \sigma\left(\frac{\ln x + \ln t}{2}\right)e^{\sigma_1(\ln x)} = \sigma\left(\ln\sqrt{xt}\right)e^{\sigma_1(\ln x)} =$$

$$=e^{\int_{\ln x}^{\infty}\sigma(t)dt}\int_{\ln\sqrt{xt}}^{\infty}\left|p\left(t\right)\right|dt=e^{\rho_{1}\left(x\right)}\int_{\sqrt{xt}}^{\infty}\left|p\left(\ln u\right)\right|u^{-1}du=\rho\left(\sqrt{xt}\right)e^{\rho_{1}\left(x\right)}.$$

On the other hand, from equality (2.2), (2.19) we obtain that

$$K(x,x) = A(\ln x, \ln x) = \frac{1}{2} \int_{\ln x}^{\infty} p(t) dt =$$

$$\frac{1}{2} \int_{x}^{\infty} p(\ln s) s^{-1} ds = \frac{1}{2} \int_{x}^{\infty} q(s) s^{-1} ds.$$

The theorem has been proved.

Let us now study the solution $\Phi(x,\nu)$ with asymptotic behavior (1.5). We shall use the following notation

$$\theta(x) = \int_{-\infty}^{x} |p(t)| dt, \, \theta_1(x) = \int_{-\infty}^{x} \theta(t) dt.$$

It is known [1] that the function $I_{\nu}(z)$ has the asymptotic behavior

$$I_{\nu}(z) = \left(\frac{z}{2}\right)^{\nu} \Gamma^{-1}(\nu+1) (1+o(1)), z \to 0.$$

Then, according to the general theory [6], [7], under condition (2.4), equation (2.1) for all λ from the closed upper half-plane has a solution $e(x, \lambda)$, representable in the form

$$e(x,\lambda) = I_{-i\lambda}(e^x) + \int_{-\infty}^x B(x,t) I_{-i\lambda}(e^t) dt,$$

where the kernel $B\left(x,t\right)$ is a continuously differentiable function and satisfy the relations

$$|B(t,s)| \le \theta\left(\frac{s+t}{2}\right)e^{\theta_1(t)},$$

$$B(t,t) = \frac{1}{2}\int_{-\infty}^{t} p(\alpha) d\alpha.$$

Using the last three formulas and reasoning as in the proof of Theorem 2.2, we obtain the validity of the following theorem.

Let

$$\xi(x) = \int_0^x |q(t)| t^{-1} dt, \, \xi_1(x) = \int_0^x \xi(t) t^{-1} dt.$$

Theorem 2.3. If q(x) is a continuously differentiable function and satisfies the condition (1.3), then, for all values of ν from the closed left half-plane, Eq. (1.1) has solutions $\Phi(x,\nu)$, representable as

$$\Phi\left(x,\nu\right) = \varphi\left(x,\nu\right) + \int_{0}^{x} G\left(x,t\right) \varphi\left(t,\nu\right) t^{-1} dt,$$

where the kernel G(x,t) is continuous function and satisfies the following conditions:

$$|G(x,t)| \le \xi\left(\sqrt{xt}\right)e^{\xi_1(x)},$$

$$G(x,x) = \frac{1}{2} \int_0^x q(t) t^{-1} dt.$$

References

- [1] M. Abramowitz and I. A. Stegun, eds., *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables* (Natl. Bur. Stds. Appl. Math. Ser., Vol. 55), Dover, New York (1972).
- [2] R. Castillo-Perez, V.V. Kravchenko, S.M. Torba, Spectral Parameter Power Series for Perturbed Bessel Equations, *Appl. Math. Comput.*, **220** (2013), 676–69.
- [3] A. Kh. Khanmamedov, A. F. Mamedova, A note on the Schrodinger operator with exponential potential, *Proc. Inst. Math. Mech. Natl. Acad. Sci. Azerb.*, **47**(1) (2021), 138-142.
- [4] A. Kh. Khanmamedov, M. H. Makhmudova, Eigenvalue asymptotics of a one-dimensional Schrodinger operator with confining potential, *Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci. Mathematics*, **44** (1) (2024), 128-131.
- [5] V. F. Korop, An inverse scattering problem for equations with a singularity, *Sibirsk. Mat. Zh...*, **2**(5) (1961), 672-693.
- [6] B. M. Levitan, *Inverse Sturm–Liouville Problems*, Translated from Russian by O. Efimov, VSP, Zeist, 1987.
- [7] V. A. Marchenko, *Sturm-Liouville Operators and Applications*, Translated from Russian by A. Jacob, Oper. Theory Adv. Appl. 22, Birkhauser, Basel, 1986.

- [8] S. M. Sitnik, E. L. Shishkina, Method of transformation operators for differential equations with Bessel operators, Fizmatlit, Moscow, 2019, 224 pp.
- [9] A. S. Sokhin, Inverse scattering problem for an equation with singularities of a special form, *Theory of functions, functional analysis and their applications*, **17**(1973), 56-64.
- [10] V. V. Stashevskaya, On the inverse problem of spectral analysis for a differential operator with a singularity at zero, *Scientific notes Kharkov State University named A.M. Gorky*, **25**(4) (1957), 49-86.
- [11] V. Ya. Volk, On inversion formulas for a differential equation with a singularity at x = 0, Uspehi Matem. Nauk, 8(4(56)) (1953), 141–151.

Agil Kh. Khanmamedov

Institute of Mathematics and Mechanics, Baku, Azerbaijan Baku State University, Baku, Azerbaijan Azerbaijan University, Baku, Azerbaijan Baku Engineering University, Khirdalan, Azerbaijan Western Caspian University, Baku, Azerbaijan Azerbaijan Technical University, Baku, Azerbaijan

E-mail address: agil_khanmamedov@yahoo.com

Afag F. Mamedova

Azerbaijan State University of Economics (UNEC), AZ 1001, Baku, Azerbaijan

E-mail address: Mammadova_Afaq@unec.edu.az

Received: March 10, 2024; Revised: August 25, 2024; Accepted: September 4, 2024